AIIMATH

			Fall 2	2021					Spring	2022		
CRSE	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
MATH103	18	50.0%	3	16.7%	3	100.0%	30	53.6%	7	23.3%	4	57.1%
MATH103C	24	26.3%	3	12.5%	0	0.0%	11	72.7%	4	36.4%	2	50.0%
MATH104C	11	66.7%	11	100.0%	7	63.6%	8	42.9%	8	100.0%	5	71.4%
MATH105C	8	50.0%	8	100.0%	4	50.0%	4	50.0%	4	100.0%	2	50.0%
MATH109	29	38.1%	29	100.0%	15	60.0%	9	50.0%	9	100.0%	3	50.0%
MATH109C	12	41.7%	12	100.0%	6	50.0%	10	80.0%	10	100.0%	8	80.0%
MATH115	90	61.7%	90	100.0%	54	65.9%	116	52.0%	116	100.0%	61	59.2%
MATH115C	145	60.4%	145	100.0%	87	64.4%	87	54.0%	87	100.0%	54	62.1%
MATH116	5	50.0%	5	100.0%	2	50.0%						
MATH121	14	64.3%	14	100.0%	11	78.6%	7	71.4%	7	100.0%	5	71.4%
MATH121C	14	90.9%	14	100.0%	11	100.0%	9	50.0%	9	100.0%	3	50.0%
MATH123	23	71.4%	23	100.0%	18	78.3%	7	57.1%	7	100.0%	4	57.1%

SASMATH

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103	16	50.0%	3	18.8%	3	100.0%	30	53.6%	7	23.3%	4	57.1%
	MATH103C	23	22.2%	2	8.7%	0	0.0%	11	72.7%	4	36.4%	2	50.0%
	MATH104C	9	71.4%	9	100.0%	5	55.6%	8	42.9%	8	100.0%	5	71.4%
ب	MATH105C	6	50.0%	6	100.0%	3	50.0%	3	33.3%	3	100.0%	1	33.3%
student	MATH109	29	38.1%	29	100.0%	15	60.0%	9	50.0%	9	100.0%	3	50.0%
	MATH109C	10	50.0%	10	100.0%	6	60.0%	9	77.8%	9	100.0%	7	77.8%
SAS	MATH115	86	61.0%	86	100.0%	51	65.4%	111	53.1%	111	100.0%	59	59.6%
Not 3	MATH115C	135	58.1%	135	100.0%	78	62.4%	83	54.2%	83	100.0%	51	61.4%
_	MATH116	3	50.0%	3	100.0%	1	50.0%						
	MATH121	12	66.7%	12	100.0%	10	83.3%	7	71.4%	7	100.0%	5	71.4%
	MATH121C	13	90.9%	13	100.0%	11	100.0%	8	50.0%	8	100.0%	3	50.0%
	MATH123	22	75.0%	22	100.0%	18	81.8%	7	57.1%	7	100.0%	4	57.1%
	MATH103	2	50.0%	0	0.0%	0							
	MATH103C	1	100.0%	1	100.0%	0	0.0%						
	MATH104C	2	50.0%	2	100.0%	2	100.0%						
	MATH105C	2	50.0%	2	100.0%	1	50.0%	1	100.0%	1	100.0%	1	100.0%
student	MATH109C	2	0.0%	2	100.0%	0	0.0%	1	100.0%	1	100.0%	1	100.0%
	MATH115	4	75.0%	4	100.0%	3	75.0%	5	25.0%	5	100.0%	2	50.0%
SAS	MATH115C	10	90.0%	10	100.0%	9	90.0%	4	50.0%	4	100.0%	3	75.0%
01	MATH116	2	50.0%	2	100.0%	1	50.0%						
	MATH121	2	50.0%	2	100.0%	1	50.0%						
	MATH121C	1		1	100.0%	0		1		1	100.0%	0	
	MATH123	1	0.0%	1	100.0%	0	0.0%						

FirstGenMATH

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103	9	42.9%	2	22.2%	2	100.0%	9	55.6%	1	11.1%	1	100.0%
	MATH103C	9	25.0%	1	11.1%	0	0.0%	3	100.0%	0	0.0%	0	
	MATH104C	2	0.0%	2	100.0%	0	0.0%	1	0.0%	1	100.0%	0	0.0%
on	MATH105C	1	100.0%	1	100.0%	1	100.0%						
rati	MATH109	7	40.0%	7	100.0%	2	33.3%	2		2	100.0%	0	
ene	MATH109C	3	33.3%	3	100.0%	2	66.7%	3	66.7%	3	100.0%	2	66.7%
First generation	MATH115	19	52.9%	19	100.0%	9	52.9%	31	44.0%	31	100.0%	13	52.0%
iΞ	MATH115C	54	43.8%	54	100.0%	24	49.0%	36	41.7%	36	100.0%	19	52.8%
	MATH121	5	60.0%	5	100.0%	4	80.0%						
	MATH121C	3	100.0%	3	100.0%	1	100.0%						
	MATH123	5	20.0%	5	100.0%	2	40.0%						
	MATH103	7	42.9%	1	14.3%	1	100.0%	17	66.7%	4	23.5%	3	75.0%
	MATH103C	12	33.3%	2	16.7%	0	0.0%	8	62.5%	4	50.0%	2	50.0%
	MATH104C	8	75.0%	8	100.0%	7	87.5%	7	50.0%	7	100.0%	5	83.3%
on	MATH105C	7	42.9%	7	100.0%	3	42.9%	4	50.0%	4	100.0%	2	50.0%
rati	MATH109	21	40.0%	21	100.0%	12	66.7%	7	50.0%	7	100.0%	3	50.0%
ene	MATH109C	9	44.4%	9	100.0%	4	44.4%	7	85.7%	7	100.0%	6	85.7%
Not first generation	MATH115	67	65.6%	67	100.0%	43	69.4%	80	56.9%	80	100.0%	46	63.0%
ij	MATH115C	81	71.4%	81	100.0%	58	75.3%	48	64.6%	48	100.0%	34	70.8%
Not	MATH116	5	50.0%	5	100.0%	2	50.0%						
	MATH121	9	66.7%	9	100.0%	7	77.8%	6	66.7%	6	100.0%	4	66.7%
	MATH121C	10	100.0%	10	100.0%	9	100.0%	9	50.0%	9	100.0%	3	50.0%
	MATH123	16	85.7%	16	100.0%	14	87.5%	6	66.7%	6	100.0%	4	66.7%
	MATH103	2	100.0%	0	0.0%	0		4	0.0%	2	50.0%	0	0.0%
eq	MATH103C	3	0.0%	0	0.0%	0							
Unknown/Not reported	MATH104C	1		1	100.0%	0	0.0%						
rep	MATH109	1	0.0%	1	100.0%	1	100.0%						
Not	MATH115	4	33.3%	4	100.0%	2	66.7%	5	20.0%	5	100.0%	2	40.0%
/nw	MATH115C	10	55.6%	10	100.0%	5	55.6%	3	33.3%	3	100.0%	1	33.3%
(no	MATH121							1	100.0%	1	100.0%	1	100.0%
Uni	MATH121C	1	0.0%	1	100.0%	1	100.0%						
	MATH123	2	100.0%	2	100.0%	2	100.0%	1	0.0%	1	100.0%	0	0.0%

EthnMATH1

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103	2	50.0%	1	50.0%	1	100.0%	4	66.7%	0	0.0%	0	
	MATH103C							1	100.0%	1	100.0%	0	0.0%
	MATH104C							2	0.0%	2	100.0%	1	100.0%
	MATH109	4	0.0%	4	100.0%	2	66.7%	1	0.0%	1	100.0%	0	0.0%
an	MATH109C	2	50.0%	2	100.0%	1	50.0%	3	100.0%	3	100.0%	3	100.0%
Asian	MATH115	5	20.0%	5	100.0%	1	20.0%	6	60.0%	6	100.0%	4	80.0%
	MATH115C	6	83.3%	6	100.0%	5	83.3%	7	85.7%	7	100.0%	6	85.7%
	MATH121	1	100.0%	1	100.0%	1	100.0%						
	MATH121C	1	100.0%	1	100.0%	1	100.0%	1		1	100.0%	0	
	MATH123	1	0.0%	1	100.0%	0	0.0%						
	MATH103							1	0.0%	0	0.0%	0	
an	MATH103C	1		0	0.0%	0		1	0.0%	1	100.0%	0	0.0%
Black or African American	MATH104C	2	0.0%	2	100.0%	1	50.0%						
ck or Afric American	MATH109	1	0.0%	1	100.0%	0	0.0%						
ack (MATH115	3	50.0%	3	100.0%	1	50.0%	5	75.0%	5	100.0%	4	80.0%
<u>8</u>	MATH115C	3	66.7%	3	100.0%	2	66.7%	1	0.0%	1	100.0%	1	100.0%
	MATH123							1	100.0%	1	100.0%	1	100.0%
	MATH103	8	28.6%	0	0.0%	0		14	38.5%	3	21.4%	1	33.3%
	MATH103C	11	20.0%	2	18.2%	0	0.0%	3	66.7%	0	0.0%	0	
	MATH104C	2	0.0%	2	100.0%	0	0.0%	3	0.0%	3	100.0%	1	33.3%
	MATH105C	2	50.0%	2	100.0%	1	50.0%	1	100.0%	1	100.0%	1	100.0%
j.	MATH109	10	12.5%	10	100.0%	3	33.3%	4	100.0%	4	100.0%	1	100.0%
Hispanic	. MATH109C	5	20.0%	5	100.0%	2	40.0%	1	100.0%	1	100.0%	1	100.0%
: <u>::</u>	MATH115	31	67.9%	31	100.0%	20	71.4%	35	37.9%	35	100.0%	13	44.8%
	MATH115C	72	50.0%	72	100.0%	36	55.4%	36	36.1%	36	100.0%	17	47.2%
	MATH121	5	60.0%	5	100.0%	4	80.0%	2	50.0%	2	100.0%	1	50.0%
	MATH121C	5	66.7%	5	100.0%	3	100.0%	3	33.3%	3	100.0%	1	33.3%
	MATH123	4	33.3%	4	100.0%	3	75.0%	1	0.0%	1	100.0%	0	0.0%

EthnMATH2

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103	3	100.0%	1	33.3%	1	100.0%	4	75.0%	2	50.0%	1	50.0%
	MATH103C	5	0.0%	0	0.0%	0		3	100.0%	1	33.3%	1	100.0%
	MATH104C	3	100.0%	3	100.0%	3	100.0%	1	100.0%	1	100.0%	1	100.0%
<u>a</u> .	MATH109	2	100.0%	2	100.0%	1	100.0%						
Rac	MATH109C	1	100.0%	1	100.0%	1	100.0%						
ulti-Racial	MATH115	7	40.0%	7	100.0%	3	60.0%	9	50.0%	9	100.0%	5	62.5%
M	MATH115C	11	63.6%	11	100.0%	7	63.6%	4	25.0%	4	100.0%	1	25.0%
	MATH121	1	100.0%	1	100.0%	1	100.0%	2	100.0%	2	100.0%	2	100.0%
	MATH121C							2	0.0%	2	100.0%	0	0.0%
	MATH123	2	50.0%	2	100.0%	1	50.0%	1	0.0%	1	100.0%	0	0.0%
	MATH103	5	60.0%	1	20.0%	1	100.0%	6	83.3%	2	33.3%	2	100.0%
	MATH103C	7	60.0%	1	14.3%	0	0.0%	3	66.7%	1	33.3%	1	100.0%
	MATH104C	4	75.0%	4	100.0%	3	75.0%	2	100.0%	2	100.0%	2	100.0%
	MATH105C	6	50.0%	6	100.0%	3	50.0%	3	33.3%	3	100.0%	1	33.3%
	MATH109	11	71.4%	11	100.0%	8	80.0%	4	50.0%	4	100.0%	2	50.0%
White	MATH109C	4	50.0%	4	100.0%	2	50.0%	6	66.7%	6	100.0%	4	66.7%
₩	MATH115	39	66.7%	39	100.0%	26	70.3%	56	57.7%	56	100.0%	33	63.5%
	MATH115C	51	70.8%	51	100.0%	36	75.0%	37	70.3%	37	100.0%	28	75.7%
	MATH116	4	66.7%	4	100.0%	2	66.7%						
	MATH121	7	57.1%	7	100.0%	5	71.4%	3	66.7%	3	100.0%	2	66.7%
	MATH121C	8	100.0%	8	100.0%	7	100.0%	3	100.0%	3	100.0%	2	100.0%
	MATH123	14	84.6%	14	100.0%	12	85.7%	4	75.0%	4	100.0%	3	75.0%

GenderMATH

				Fall 2	2021					Spring	g 2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103	9	37.5%	1	11.1%	1	100.0%	13	76.9%	1	7.7%	0	0.0%
	MATH103C	10	28.6%	2	20.0%	0	0.0%	4	75.0%	1	25.0%	0	0.0%
	MATH104C	3	66.7%	3	100.0%	3	100.0%	3	0.0%	3	100.0%	1	33.3%
	MATH105C	3	66.7%	3	100.0%	2	66.7%	3	33.3%	3	100.0%	1	33.3%
	MATH109	7	16.7%	7	100.0%	3	42.9%	2	0.0%	2	100.0%	0	0.0%
Female	MATH109C	2	0.0%	2	100.0%	0	0.0%	5	100.0%	5	100.0%	5	100.0%
Fen	MATH115	44	65.9%	44	100.0%	29	70.7%	57	58.0%	57	100.0%	33	66.0%
	MATH115C	79	58.3%	79	100.0%	44	61.1%	50	66.0%	50	100.0%	37	74.0%
	MATH116	1	100.0%	1	100.0%	1	100.0%						
	MATH121	9	55.6%	9	100.0%	7	77.8%	2	50.0%	2	100.0%	1	50.0%
	MATH121C	7	100.0%	7	100.0%	7	100.0%	3	100.0%	3	100.0%	1	100.0%
	MATH123	7	57.1%	7	100.0%	5	71.4%	2	50.0%	2	100.0%	1	50.0%
	MATH103	9	62.5%	2	22.2%	2	100.0%	17	33.3%	6	35.3%	4	66.7%
	MATH103C	13	27.3%	1	7.7%	0	0.0%	6	66.7%	3	50.0%	2	66.7%
	MATH104C	8	66.7%	8	100.0%	4	50.0%	5	75.0%	5	100.0%	4	100.0%
	MATH105C	5	40.0%	5	100.0%	2	40.0%	1	100.0%	1	100.0%	1	100.0%
	MATH109	22	46.7%	22	100.0%	12	66.7%	7	60.0%	7	100.0%	3	60.0%
Male	MATH109C	10	50.0%	10	100.0%	6	60.0%	5	60.0%	5	100.0%	3	60.0%
Ž	MATH115	43	56.8%	43	100.0%	23	60.5%	56	45.1%	56	100.0%	27	51.9%
	MATH115C	65	63.9%	65	100.0%	43	69.4%	36	36.1%	36	100.0%	16	44.4%
	MATH116	4	33.3%	4	100.0%	1	33.3%						
	MATH121	5	80.0%	5	100.0%	4	80.0%	5	80.0%	5	100.0%	4	80.0%
	MATH121C	7	75.0%	7	100.0%	4	100.0%	6	40.0%	6	100.0%	2	40.0%
	MATH123	16	78.6%	16	100.0%	13	81.3%	5	60.0%	5	100.0%	3	60.0%
wn/ :ed	MATH103C	1	0.0%	0	0.0%	0		1	100.0%	0	0.0%	0	
Unknown/ Not reported	MATH115	3	66.7%	3	100.0%	2	66.7%	3	100.0%	3	100.0%	1	100.0%
Unl	MATH115C	1	0.0%	1	100.0%	0	0.0%	1	100.0%	1	100.0%	1	100.0%

AgeMATH1

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103							1	0.0%	0	0.0%	0	
	MATH103C	1		0	0.0%	0							
	MATH104C	1	0.0%	1	100.0%	0	0.0%						
	MATH105C	1	100.0%	1	100.0%	1	100.0%						
	MATH109	6	100.0%	6	100.0%	5	100.0%	2	100.0%	2	100.0%	2	100.0%
Under	MATH109C	1	100.0%	1	100.0%	1	100.0%						
'n	MATH115	7	42.9%	7	100.0%	4	57.1%	10	50.0%	10	100.0%	6	60.0%
	MATH115C	6	80.0%	6	100.0%	4	80.0%	4	75.0%	4	100.0%	3	75.0%
	MATH121	5	100.0%	5	100.0%	5	100.0%	1	0.0%	1	100.0%	0	0.0%
	MATH121C	5	100.0%	5	100.0%	5	100.0%						
	MATH123	6	75.0%	6	100.0%	5	83.3%	1	0.0%	1	100.0%	0	0.0%
	MATH103	7	33.3%	0	0.0%	0		13	38.5%	4	30.8%	1	25.0%
	MATH103C	11	22.2%	2	18.2%	0	0.0%	7	57.1%	3	42.9%	1	33.3%
	MATH104C	4	100.0%	4	100.0%	3	75.0%	4	0.0%	4	100.0%	2	50.0%
	MATH105C	4	0.0%	4	100.0%	0	0.0%	2	100.0%	2	100.0%	2	100.0%
	MATH109	15	33.3%	15	100.0%	8	57.1%	2	0.0%	2	100.0%	0	0.0%
18-19	MATH109C	8	25.0%	8	100.0%	3	37.5%	6	66.7%	6	100.0%	4	66.7%
18	MATH115	52	67.4%	52	100.0%	32	68.1%	53	41.2%	53	100.0%	24	47.1%
	MATH115C	91	57.1%	91	100.0%	51	60.0%	48	50.0%	48	100.0%	27	56.3%
	MATH116	1	100.0%	1	100.0%	1	100.0%						
	MATH121	4	50.0%	4	100.0%	2	50.0%	5	80.0%	5	100.0%	4	80.0%
	MATH121C	8	83.3%	8	100.0%	6	100.0%	7	60.0%	7	100.0%	3	60.0%
	MATH123	10	100.0%	10	100.0%	10	100.0%	4	50.0%	4	100.0%	2	50.0%
	MATH103	6	66.7%	2	33.3%	2	100.0%	6	60.0%	2	33.3%	2	100.0%
	MATH103C	7	33.3%	1	14.3%	0	0.0%						
	MATH104C	4	100.0%	4	100.0%	3	75.0%	2	100.0%	2	100.0%	1	100.0%
	MATH105C	2	100.0%	2	100.0%	2	100.0%	2	0.0%	2	100.0%	0	0.0%
	MATH109	4	0.0%	4	100.0%	1	33.3%	2	50.0%	2	100.0%	1	50.0%
	MATH109C	3	66.7%	3	100.0%	2	66.7%	2	100.0%	2	100.0%	2	100.0%
	MATH115	15	50.0%	15	100.0%	9	64.3%	26	60.0%	26	100.0%	13	65.0%
	MATH115C	25	52.0%	25	100.0%	15	60.0%	22	59.1%	22	100.0%	16	72.7%
	MATH116	3	50.0%	3	100.0%	1	50.0%						
	MATH121	2	50.0%	2	100.0%	2	100.0%	1	100.0%	1	100.0%	1	100.0%
	MATH121C							1	0.0%	1	100.0%	0	0.0%
	MATH123	5	20.0%	5	100.0%	2	40.0%	1	100.0%	1	100.0%	1	100.0%

AgeMATH2

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	MATH103	4	50.0%	1	25.0%	1	100.0%	4	66.7%	1	25.0%	1	100.0%
	MATH104C	1	0.0%	1	100.0%	0	0.0%	1	100.0%	1	100.0%	1	100.0%
	MATH109	2	50.0%	2	100.0%	1	50.0%						
-29	MATH109C							1	100.0%	1	100.0%	1	100.0%
25.	MATH115	8	66.7%	8	100.0%	4	66.7%	9	71.4%	9	100.0%	5	71.4%
	MATH115C	6	80.0%	6	100.0%	4	80.0%	5	40.0%	5	100.0%	2	40.0%
	MATH116	1	0.0%	1	100.0%	0	0.0%						
	MATH121	1	0.0%	1	100.0%	1	100.0%						
	MATH103	1		0	0.0%	0		6	83.3%	0	0.0%	0	
	MATH103C	5	25.0%	0	0.0%	0		4	100.0%	1	25.0%	1	100.0%
	MATH104C	1	0.0%	1	100.0%	1	100.0%	1	100.0%	1	100.0%	1	100.0%
	MATH105C	1	100.0%	1	100.0%	1	100.0%						
or older	MATH109	2	0.0%	2	100.0%	0	0.0%	3	0.0%	3	100.0%	0	0.0%
0 V O	MATH109C							1	100.0%	1	100.0%	1	100.0%
30 0	MATH115	8	62.5%	8	100.0%	5	62.5%	18	71.4%	18	100.0%	13	86.7%
	MATH115C	17	80.0%	17	100.0%	13	86.7%	8	62.5%	8	100.0%	6	75.0%
	MATH121	2	50.0%	2	100.0%	1	50.0%						
	MATH121C	1		1	100.0%	0		1		1	100.0%	0	
	MATH123	2	50.0%	2	100.0%	1	50.0%	1	100.0%	1	100.0%	1	100.0%

ALLENGL

			Fall 2	2021					Spring	2022		
CRSE	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
ENGL098	11	36.4%	2	18.2%	0	0.0%						
ENGL098SL	16	66.7%	1	6.3%	0	0.0%	13	76.9%	1	7.7%	1	100.0%
ENGL120	14	85.7%	11	78.6%	7	63.6%	10	30.0%	6	60.0%	1	20.0%
ENGL120SL	17	82.4%	8	47.1%	7	87.5%	17	56.3%	6	35.3%	3	50.0%
ENGL150	260	63.7%	260	100.0%	169	67.9%	192	65.6%	192	100.0%	133	71.1%
ENGL150C	42	83.3%	42	100.0%	35	83.3%	24	82.6%	24	100.0%	19	82.6%

SASENGL

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
¥	ENGL098	10	40.0%	2	20.0%	0	0.0%						
del	ENGL098SL	15	64.3%	1	6.7%	0	0.0%	13	76.9%	1	7.7%	1	100.0%
stu	ENGL120	12	83.3%	9	75.0%	6	66.7%	10	30.0%	6	60.0%	1	20.0%
SAS	ENGL120SL	17	82.4%	8	47.1%	7	87.5%	17	56.3%	6	35.3%	3	50.0%
Not	ENGL150	236	63.5%	236	100.0%	152	67.6%	175	63.3%	175	100.0%	118	69.4%
Z	ENGL150C	39	87.2%	39	100.0%	34	87.2%	23	82.6%	23	100.0%	19	82.6%
+	ENGL098	1	0.0%	0	0.0%	0							
dent	ENGL098SL	1	100.0%	0	0.0%	0							
stuc	ENGL120	2	100.0%	2	100.0%	1	50.0%						
AS	ENGL150	24	65.2%	24	100.0%	17	70.8%	17	88.2%	17	100.0%	15	88.2%
0)	ENGL150C	3	33.3%	3	100.0%	1	33.3%	1		1	100.0%	0	

FirstGenENGL

				Fall 2	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	ENGL098	5	60.0%	1	20.0%	0	0.0%						
generation	ENGL098SL	6	66.7%	0	0.0%	0		8	75.0%	0	0.0%	0	
Jers	ENGL120	5	60.0%	3	60.0%	1	33.3%	6	16.7%	3	50.0%	0	0.0%
	ENGL120SL	8	87.5%	3	37.5%	2	66.7%	9	33.3%	3	33.3%	1	33.3%
First	ENGL150	75	60.3%	75	100.0%	43	63.2%	51	59.2%	51	100.0%	32	65.3%
ш	ENGL150C	18	88.9%	18	100.0%	16	88.9%	7	57.1%	7	100.0%	4	57.1%
ration	ENGL098	2	50.0%	0	0.0%	0							
rat	ENGL098SL	7	57.1%	1	14.3%	0	0.0%	3	66.7%	0	0.0%	0	
genei	ENGL120	7	100.0%	6	85.7%	4	66.7%	3	33.3%	2	66.7%	1	50.0%
st g	ENGL120SL	5	80.0%	4	80.0%	4	100.0%	7	100.0%	3	42.9%	2	66.7%
Not first	ENGL150	167	66.0%	167	100.0%	116	71.2%	134	69.5%	134	100.0%	99	75.0%
Š	ENGL150C	17	76.5%	17	100.0%	13	76.5%	17	93.8%	17	100.0%	15	93.8%
	ENGL098	4	0.0%	1	25.0%	0	0.0%						
Not	ENGL098SL	3	100.0%	0	0.0%	0		2	100.0%	1	50.0%	1	100.0%
vn/I rtec	ENGL120	2	100.0%	2	100.0%	2	100.0%	1	100.0%	1	100.0%	0	0.0%
cno. epo	ENGL120SL	4	75.0%	1	25.0%	1	100.0%	1	0.0%	0	0.0%	0	
Unknown/Not reported	ENGL150	18	55.6%	18	100.0%	10	55.6%	7	33.3%	7	100.0%	2	33.3%
	ENGL150C	7	85.7%	7	100.0%	6	85.7%						

EthnENGL

				Fall	2021					Spring	2022		
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year
	ENGL098	1	100.0%	0	0.0%	0							
	ENGL098SL	5	80.0%	0	0.0%	0		4	75.0%	0	0.0%	0	
Asian	ENGL120	1	100.0%	1	100.0%	1	100.0%						
Asi	ENGL120SL							2	50.0%	0	0.0%	0	
	ENGL150	19	63.2%	19	100.0%	12	63.2%	10	60.0%	10	100.0%	7	70.0%
	ENGL150C							4	100.0%	4	100.0%	4	100.0%
,	ENGL098	1	0.0%	1	100.0%	0	0.0%						
Black or African American	ENGL120SL	1	100.0%	1	100.0%	1	100.0%						
3lac Afri me	ENGL150	7	0.0%	7	100.0%	1	20.0%	7	71.4%	7	100.0%	6	85.7%
- 4	ENGL150C	1	0.0%	1	100.0%	0	0.0%						
	ENGL098	3	33.3%	0	0.0%	0							
O	ENGL098SL	7	50.0%	0	0.0%	0		5	80.0%	1	20.0%	1	100.0%
Hispanic	ENGL120	8	75.0%	5	62.5%	2	40.0%	7	28.6%	5	71.4%	1	25.0%
-isp	ENGL120SL	13	76.9%	4	30.8%	3	75.0%	13	50.0%	5	38.5%	2	40.0%
_	ENGL150	105	57.7%	105	100.0%	63	64.3%	72	54.4%	72	100.0%	43	63.2%
	ENGL150C	30	86.7%	30	100.0%	26	86.7%	9	66.7%	9	100.0%	6	66.7%
_	ENGL098	3	33.3%	0	0.0%	0							
Multi-Racial	ENGL120							2	50.0%	1	50.0%	0	0.0%
<u>~</u>	ENGL120SL	1	100.0%	1	100.0%	1	100.0%						
Mul	ENGL150	24	68.2%	24	100.0%	16	66.7%	17	70.6%	17	100.0%	12	70.6%
	ENGL150C	1	100.0%	1	100.0%	1	100.0%	2	100.0%	2	100.0%	2	100.0%
	ENGL098	2	50.0%	1	50.0%	0	0.0%						
	ENGL098SL	2	50.0%	1	50.0%	0	0.0%	4	75.0%	0	0.0%	0	
White	ENGL120	4	100.0%	4	100.0%	3	75.0%	1	0.0%	0	0.0%	0	
×	ENGL120SL	1	100.0%	1	100.0%	1	100.0%	2	100.0%	1	50.0%	1	100.0%
	ENGL150	100	71.1%	100	100.0%	73	74.5%	82	73.8%	82	100.0%	62	76.5%
	ENGL150C	10	80.0%	10	100.0%	8	80.0%	9	87.5%	9	100.0%	7	87.5%

GenderENGL

		Fall 2021						Spring 2022						
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	
	ENGL098	4	25.0%	1	25.0%	0	0.0%							
	ENGL098SL	13	75.0%	1	7.7%	0	0.0%	9	77.8%	1	11.1%	1	100.0%	
ale	ENGL120	5	100.0%	4	80.0%	3	75.0%	5	20.0%	2	40.0%	1	50.0%	
Femi	ENGL120SL	10	80.0%	4	40.0%	4	100.0%	14	61.5%	5	35.7%	3	60.0%	
	ENGL150	129	60.7%	129	100.0%	79	64.8%	103	70.0%	103	100.0%	73	73.0%	
	ENGL150C	30	90.0%	30	100.0%	27	90.0%	11	81.8%	11	100.0%	9	81.8%	
	ENGL098	7	42.9%	1	14.3%	0	0.0%							
	ENGL098SL	3	33.3%	0	0.0%	0		4	75.0%	0	0.0%	0		
<u>a</u>	ENGL120	9	77.8%	7	77.8%	4	57.1%	5	40.0%	4	80.0%	0	0.0%	
Š	ENGL120SL	7	85.7%	4	57.1%	3	75.0%	3	33.3%	1	33.3%	0	0.0%	
	ENGL150	130	67.2%	130	100.0%	90	71.4%	85	59.8%	85	100.0%	57	68.7%	
	ENGL150C	11	72.7%	11	100.0%	8	72.7%	12	81.8%	12	100.0%	9	81.8%	
Unkno wn/N	ENGL150	1	0.0%	1	100.0%	0	0.0%	4	75.0%	4	100.0%	3	75.0%	
Unkno wn/N.	ENGL150C	1	0.0%	1	100.0%	0	0.0%	1	100.0%	1	100.0%	1	100.0%	

AgeENGL

		Fall 2021							Spring 2022						
		N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year	N enrolled in course in first term	Percent success course in first term	N enrolled in transfer level within one year	Percent enrolled in transfer level within one year	Count success in transfer level within one year	Percent success transfer level within one year		
Under 18	ENGL098	1	0.0%	0	0.0%	0									
	ENGL120	1	100.0%	1	100.0%	0	0.0%								
	ENGL120SL	2	50.0%	0	0.0%	0		1	0.0%	0	0.0%	0			
	ENGL150	12	91.7%	12	100.0%	11	91.7%	10	90.0%	10	100.0%	9	90.0%		
	ENGL150C	2	50.0%	2	100.0%	1	50.0%								
	ENGL098	3	33.3%	1	33.3%	0	0.0%								
	ENGL098SL	2	50.0%	1	50.0%	0	0.0%	1	0.0%	0	0.0%	0			
	ENGL120	12	83.3%	9	75.0%	6	66.7%	4	25.0%	2	50.0%	0	0.0%		
	ENGL120SL	6	83.3%	4	66.7%	3	75.0%	2	100.0%	2	100.0%	1	50.0%		
	ENGL150	169	62.7%	169	100.0%	107	66.5%	102	66.3%	102	100.0%	73	74.5%		
	ENGL150C	33	84.8%	33	100.0%	28	84.8%	14	85.7%	14	100.0%	12	85.7%		
	ENGL098	2	0.0%	1	50.0%	0	0.0%								
	ENGL098SL	3	100.0%	0	0.0%	0		4	100.0%	0	0.0%	0			
20-24	ENGL120	1	100.0%	1	100.0%	1	100.0%	4	50.0%	4	100.0%	1	25.0%		
	ENGL120SL	4	100.0%	2	50.0%	2	100.0%	4	75.0%	2	50.0%	0	0.0%		
	ENGL150	41	62.5%	41	100.0%	30	73.2%	42	56.1%	42	100.0%	26	61.9%		
	ENGL150C	5	80.0%	5	100.0%	4	80.0%	8	75.0%	8	100.0%	6	75.0%		
25-29	ENGL098SL	5	80.0%	0	0.0%	0		4	100.0%	0	0.0%	0			
	ENGL120							1	0.0%	0	0.0%	0			
	ENGL120SL	4	75.0%	2	50.0%	2	100.0%	6	40.0%	1	16.7%	1	100.0%		
7	ENGL150	16	35.7%	16	100.0%	5	35.7%	13	66.7%	13	100.0%	8	66.7%		
	ENGL150C							1	100.0%	1	100.0%	1	100.0%		
30 or	ENGL098	5	60.0%	0	0.0%	0									
	ENGL098SL	6	50.0%	0	0.0%	0		4	50.0%	1	25.0%	1	100.0%		
	ENGL120							1	0.0%	0	0.0%	0			
	ENGL120SL	1	100.0%	0	0.0%	0		4	50.0%	1	25.0%	1	100.0%		
	ENGL150	22	76.2%	22	100.0%	16	76.2%	25	68.0%	25	100.0%	17	68.0%		
	ENGL150C	2	100.0%	2	100.0%	2	100.0%	1		1	100.0%	0			